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FINISHSCORE

Mark the correct answer.
1. (−3)2 = 32 ⇔ 3 = −3 True False

It is nota logicalstatement.
2.

√(−4)2 = −4⇔ 2 <
√6

3.
(13
)−3 = 27⇒ (

−13
)3 = −27

4. (7 ≥ 1 ∧ 5|17)⇒ (√2)3
∈ Z

5. (2|1276)⇒ (√3 ∈ Z ∨ −5 < −6)
6. (12|156)⇔ (3|156 ∧ 4|156)
7. 2 is an even number or 5 is a divisor of 8.
8.

(34 − 2.5)



That was excellent!Awesome! Keep it up!Good job, buddy!Super-duper!
That is what I call a fine job!

Wait! Sheldon might get jealous!A small step remains,
next time will be glorious!

Almost there.
I’m sure you’ll even do better next time.

It almost couldn’t have been better. Almost.Hermione’s top of the class title is almost on the
line.

That was close! Next time you will
shine like a star.

Not great, not terrible.
You are somewhere in the middle.
It’s not bad, but you can do better!Not bad! In some areas you haven’t got enough

knowledge yet.
Don’t worry, your result is more than half correct.All great scientists made some mistakes in their

life. Just like you.
Just a little better and you will be average.Could be worse!You avoided an F, but that doesn’t mean you don’t

have to study more.
Are you keeping your energy for later?That didn’t end up very well.

You should study more.
Have you ever seen the way a chicken flies?

You solve math problems that way. . .
We should blame the weather!The awkward moment, when the only thing on your
exam you know is your name.

The stars weren’t aligned in your favour today.Your math knowledge
is just like the square root of −1.

Correct answers:




